
max_ = 0
max1 = 0
max2 = 0
for a1 in range (4, 40):
   for a2 in range (a1, 40):
       f = 0
       for x in range (1, 1000):
           if (((5 <= x <= 30) == (14 <= x <= 23)) <= int(not(a1 <= x <= a2))) != 1:
               f = 1
               break
       if f == 0:
           if a2 - a1 > max_:
               max_ = a2 - a1
               max1 = a1
               max2 = a2
x = max1 - 0.9
if (((5 <= x <= 30) == (14 <= x <= 23)) <= int(not(max1 - 0.9 <= x <= max2 + 0.9 ))) == 1:
   max_ += 1
x = max2 + 0.9
if (((5 <= x <= 30) == (14 <= x <= 23)) <= int(not(max1 - 0.9 <= x <= max2 + 0.9 ))) == 1:
   max_ += 1
print(max_, max1, max2 )

Ответ: 9.


